Earth Science
DO NOT WRITE ON THIS TEST



Test #2: Minerals & Igneous Rocks
Answer the following multiple choice questions by circling the correct answer on your answer sheet.
	1.
	Water would not be considered a mineral because it does not satisfy which of the following requirements?
	a.  naturally occurring
b.  definite composition

c.  crystalline solid

d.  inorganic

e.  none of these



	2.
	A pearl would not be considered a mineral because it does not satisfy which of the following requirements?
	a.  naturally occurring

b.  definite composition

c.  crystalline solid

d.  inorganic

e.  none of these



	3.
	Is ice considered a mineral?
	a.  yes

b.  no


	4.
	The quality and intensity of light reflected off the surface of a mineral, e.g., metallic, vitreous, is considered which of the following properties of minerals?
	a.  cleavage

b.  streak

c.  luster

d.  tenacity

e.  opacity

f.  hardness


	5.
	The property of a mineral that refers to the resistance of a mineral to be scratched or dented by another mineral is called …
	a.  cleavage

b.  streak

c.  luster

d.  tenacity

e.  opacity

f.  hardness


	6.
	When a mineral breaks along smooth surfaces, you are describing what mineral property?
	a.  cleavage

b.  streak

c.  luster

d.  tenacity

e.  opacity

f.  hardness


	7.
	Scratching a piece of hematite across a streak plate produces a characteristic reddish-brown color.  This mineral property is referred to as …
	a.  cleavage

b.  streak

c.  luster

d.  tenacity

e.  opacity

f.  hardness


	8.
	The capacity of a mineral to transmit light or an image.
	a.  cleavage

b.  streak

c.  luster

d.  tenacity

e.  opacity

f.  hardness



	9.
	Sapphires and rubies have a hardness of …
	a.  5
b.  6
c.  7
d.  8
e.  9
f.  10


	10.
	Which of the following lists of minerals is in the correct order from softest to hardest?
	a.  talc, calcite, gypsum, topaz
b.  quartz, corundum, topaz
c.  calcite, gypsum, fluorite
d.  talc, gypsum, fluorite, topaz
e.  corundum, topaz, diamond
f.  apatite, fluorite, quartz

	11.
	It has perfect cleavage in one direction; it is generally shiny, can be light green, brown or almost black in color; some specimens you can see through.
	a.  quartz

b.  calcite

c.  pyrite

d.  mica

e.  magnetite

f.  gypsum

	12.
	very soft, can be scratched with your fingernail; is generally white or clear in color; may form slender parallel crystals a form sometimes referred to a satin-spar.
	a.  quartz

b.  calcite

c.  pyrite

d.  mica

e.  magnetite

f.  gypsum

	13.
	crystal class hexagonal (rhombohedron); is often yellowish-tan in color but can be a variety of colors, cannot be scratched with your fingernail, but can be with a nail; fizzes when hydrochloric acid is applied
	a.  quartz

b.  calcite

c.  pyrite

d.  mica

e.  magnetite

f.  gypsum

	14.
	This mineral is black in color; can be picked up with a magnet; reddish-brown streak; and has no cleavage.  It is most likely which of the following minerals?
	a.  quartz

b.  calcite

c.  pyrite

d.  mica

e.  magnetite

f.  gypsum

	15.
	This mineral will scratch glass; has a hardness of 7; is clear, transparent; has no cleavage,and a hexagonal crystal.  It is probably …
	a.  quartz

b.  calcite

c.  pyrite

d.  mica

e.  magnetite

f.  gypsum

	16.
	brassy yellow in color; crystals are often isometric in form; sometimes mistaken for gold;
	a.  quartz

b.  calcite

c.  pyrite

d.  mica

e.  magnetite

f.  gypsum

	17.
	Which mineral group does gypsum (CaSO4) belong to?
	a.  native elements

b.  silicates

c.  sulfates

d.  carbonates

e.  oxides

f.  sulfides

	18.
	Which mineral group does pyrite (FeS2) belong to?
	a.  native elements

b.  silicates

c.  sulfates

d.  carbonates

e.  oxides

f.  sulfides

	19.
	The two most abundant elements found in the universe are?
	a.  silicon and oxygen
b.  iron and silicon

c.  hydrogen and neon

d.  hydrogen and helium

e.  iron and oxygen
f.  carbon and silicon



	20.
	Colorado recently established a state mineral.  The mineral is
	a.  amazonite

b.  rhodochrosite

c.  topaz

d.  diamond

e.  gold


	21
	The mineral previously regarded as Colorado’s unofficial state mineral was
	a.  amazonite

b.  rhodochrosite

c.  topaz

d.  diamond

e.  gold



	22
	Which of the following is NOT a native element?
	a.  gold

b.  silver

c.  calcite

d.  graphite

e.  diamond


	23
	Of the minerals on the right, which is the softest on the Mohs Hardness Scale?
	a.  quartz

b.  calcite

c.  topaz
d.  gypsum

e.  diamond


	24
	Taste would be a good indicator for which of the following minerals?
	a.  quartz

b.  calcite

c.  mica

d.  gypsum

e.  halite



	25
	Which of the following minerals is characterized by one perfect plane of cleavage?
	a.  calcite

b.  mica

c.  quartz

d.  orthoclase

e.  galena


	26
	The most common elements in the earth’s crust are oxygen and   
	a.  iron
b.  silicon

c.  aluminum

d.  carbon

e,  hydrogen



	27
	There are two elements that exist as liquids under normal conditions.  They are …
	a.  hydrogen and iodine
b.  chlorine and iodine

c.  mercury and iodine

d.  mercury and bromine

e.  chlorine and bromine

f.  none of these



	28
	Minerals are classified based on their …
	a.  color

b.  density

c.  composition

d.  properties

e.  shape

f.  none of these



	29
	Minerals are usually identified based on their …
	a.  color

b.  density

c.  composition

d.  properties

e.  shape

f.  none of these



	30
	There are approximately how many naturally occurring elements found on the earth?
	a.  35

b.  70

c.  90

d.  103

e.  118



	31
	Two or more elements chemically combined in a definite ratio is called a(n)
	a.  element

b.  compound

c.  mixture

d.  ion

e.  none of these



	32
	Positively charged subatomic particles are called  
	a.  protons

b.  neutrons

c.  electrons

d.  quarks

e.  strings

f.  none of these



	33
	The sum of the protons and neutrons in an atom is called
	a.  atomic #

b.  atomic mass

c.  weight

d.  valence

e.  oxidation #



	34
	Which of the following characteristics would be useful in distinguishing between amethyst, smoky quartz, rose quartz, and citrine?
	a.  composition

b.  streak

c.  color

d.  density

e.  none of these


	35
	An orderly arrangement of atoms forming a structure bounded by smooth faces is a
	a.  mineral

b.  element

c.  lattice

d.  crystal

e.  fracture


	36
	The atomic number of an element corresponds to
	a.  # of protons

b.  # of neutrons

c.  #  of electrons

d.  a & b

e.  a & c



	37
	The hardest mineral found in Colorado is
	a.  quartz

b.  ruby

c.  sapphires

d.  topaz

e.  diamond

f.  cubic zirconium



	38
	It is softer than quartz, but harder than apatite
	a.  quartz

b.  diamond

c.  orthoclase

d.  fluorite

e.  corundum


	39
	The elements in a Periodic Table are arranged according to what property?
	a.  their mass
b.  the number of neutrons

c.  the size of the atom

d.  the number of protons

e.  their electrical charge



	40
	Who first proposed an atomic model that resembled a minature solar system?
	a.  Dimitri Mendeleev
b.  Niels Bohr

c.  Albert Einstein

d.  Stephen Hawking

e.  Richard Feynman



	41
	If the oxidation number of iron is +2 and sulfur is -1, which of the following is a possible compound?
	a.  IrS2
b.  Ir2S

c.  FeS2
d.  Fe2S2
e.  Fe2S



	42
	What characteristic of the Noble Gas family is unique for the group?
	a.  they are all gases
b.  they do not react with any other elements

c.  they all have one electron in their outermost energy level
d.  they are all metallic and conduct electricity

e.  none of these 



	43
	Rows in the Periodic Table are generally referred to as
	a.  groups
b.  families

c.  orbitals

d.  periods

e.  levels



	44
	Originally the Periodic Table was arranged according to the element’s ….
	a.  number of protons
b.  electron configuration

c.  size

d.  mass

e.  radioactivity



	45
	The most massive, naturally occurring element known is …
	a.  Carbon
b.  Hydrogen

c.  Plutonium

d.  Lawrencium

e.  Uranium



	46
	Which of the following is the correct name for MgCl2?
	a.  manganese chlorine
b.  manganese chloride

c.  magnesium chlorine

d.  magnesium chlorate

e.  magnesium chloride



	47
	Which of the following is the correct name for CaCO3?
	a.  calcium oxide
b.  calcium carbonide

c.  calcium carbonate

d.  calcium carbonoxide

e.  calcium trioxide



	48
	How many total atoms are in the following chemical formula?   KAlSi3O8
	a.  4
b.  11

c.  12

d.  13

e.  14



	49
	The symbol for the Element Potassium is …
	a.  Po
b.  Pt

c.  K

d.  Na

e.  Pm



	50
	Most symbols for elements are the letters of the first part of their names.  Some, however, are not.  Those that do not represent …
	a.  the last letters of element’s name
b.  ancient names for these elements

c.  random letters made up by a chemist

d.  initials of the element’s discoverer

e.  none of the above



	51
	The Earth’s axis is tilted how many degrees from its orbital plane?


	a. 7.5 degrees

b.  40 degrees

c.  66.5 degrees

d. 20 degrees

e.  23.5 degrees



	52
	Bailey’s approximate latitude and longitude are


	a.  39° S and 105° W

b.  39° N and 105° W

c.  105° N and 39° W

d.  39° N and 105° E

e.  none of these



	53
	5.15 degrees can also be written as


	a.  5° 09’ 00”

b.  5° 09’ 15”

c.  5° 00’ 09” 

d.  5° 00’ 15”

e.  5° 15’ 00”



	54
	If you were standing a the geomagnetic south pole, which direction would your compass needle point if it were free to move in any direction?


	a.  it would spin around in a

     circle

b.  it would point north toward 

     the north pole

c.  it would point straight up

d.  it would point straight down

e.  it wouldn’t point in any 

     direction because it 

     wouldn’t work



	55
	The name of the device used to measure a mineral’s radioactivity is called a …
	a.  rad detector

b.  seismometer

c.  radar meter

d.  Geiger counter

e.  Bohr meter



	56
	Mineral families are named or grouped based on …
	a.  their physical properties

b.  their predominant color

c.  their hardness

d.  the last part of their chemical composition

e.  their crystal shape



	57
	The element hydrogen has an atomic number of 1 and a mass of 1.0079.  How many protons does it have?
	a.  0

b.  1

c.  2

d.  1.0079

e.  0.0079



	58
	Using the above information, how many neutrons does a typical atom of hydrogen have?
	a.  0

b.  1

c.  2

d.  1.0079

e.  0.0079



	59
	Using the above information, how many electrons does a typical atom of hydrogen have?
	a.  0

b.  1

c.  2

d.  1.0079

e.  0.0079



	60
	The element hafnium has an atomic number of 72 and a mass of 178.49.  You are told that there are two isotopes for this element, one with a mass of 178 and another with a mass of 179.  Which of the following statements is probably true?
	a.  Hf-178 has 72 protons 
   while Hf-179 has 73 protons.
b.  Hf-178 has more neutrons 
     than Hf-179.

c.  There is approximately the 
     same amount of Hf-178 as 
     there is Hf-179 in the Earth.

d.  Hf-179 is much more 
     common than Hf-178 on 
     Earth

e.  Hf-178 is negatively 
     charged while Hf-179 is 
     positively charged, so they 
     balance out.



	61
	You are given three mineral specimens.  Specimen A is rhombohedral, red in color, with a hardness of 3.2.  Specimen B is rhombohedral, yellow-brown in color, with a hardness of 3.0.  Specimen C is rhombohedral, clear, transparent, with a hardness of 3.0.  All three specimens react (bubble) when hydrochloric acid is applied.  Which of the following statements is the best conclusion concerning these three specimens.
	a.  All three specimens are the same mineral, just different colors.

b.  All three specimens probably belong to the same mineral family.

c.  All threes specimens are definitely different minerals that just share some physical properties.

d.  Based on the information given, no interpretation concerning their identities is possible.

e.  Specimen B and  C are probably the same mineral, but specimen A is a totally different mineral type.



	62
	Colorado’s state gemstone, the aquamarine, is a blue-green variety of the mineral beryl.  What is the more famous and valuable variety of beryl?
	a.  ruby

b.  sapphire

c.  tiger eye

d.  emerald

e.  rhodochrosite



	We have discussed in class how properties are used to identify minerals. Mineral A and B were found by a geologist and the results of their hardness and streak tests are given.  Use this information and your knowledge of minerals to answer the following questions.

Mineral A had no streak produced when scraped across the porcelain tile.; it scratched the glass plate, but a steel file did not scratch it.

Mineral B had a reddish-brown streak produced on the procelain tile; it was scratched by a steel file, it scratched a glass plate; mineral B was scratched by mineral A.

Hardness Scale Info

fingernail = 2.5; copper penny = 3.5; window glass = 5.5; steel file = 6.5

Sreak Info

hornblende = green-gray
labradorite = no streak

hematite = red-brown

magnetite = black

flint = no streak


black mica = no streak



	63
	Mineral A is probably
	a.  labradorite
    

b.  magnetite       

c.  flint


d.  not able to be determined by the information



	64
	Mineral B is probably
	a.  hornblende
    

b.  hematite        

c.  labradorite        

d.  magnetite



	65
	Mineral A probably has a hardness of
	a.  4



b.  5



c.  6



d.  7



	66
	The best method of identifying minerals is
	a.  to use the color of the mineral

b.  to use only the hardness test and the scratch test

c.  to use an identification book to look up the mineral and compare it to the pictures

d.  to use a combination f many tests



	67
	streak test is performed on a third mineral.  It has a black streak.  The mineral is probably
	a.  hornblende
      

b.  magnetite


c.  black mica



d.  not on the chart



	68
	Mineral C is compared to minerals A and B.  It was scratched by both A and B, but not by the copper penny.  The mineral probably has a hardness of
	a.  4.0



b.  5.5



c.  6.5 +



d.  3.0 – 6.0



	69
	Igneous rocks are subdivided into two groups based on …
	a.  the minerals that they are composed of.

b.  how large the gas holes are 

c.  where they are formed

d.  their overall color

e.  none of these characteristics



	70
	The slower a magma or lava cools, the __________ the crystals.
	a.  more well formed

b.  larger

c.  smaller

d.  more angular

e.  more rounded



	71
	Magma from below the surface becomes ______ when it reaches the surface.
	a.  igneous rocks

b.  gases

c.  lava

d.  obsidian

e.  tuff



	72
	Which of the following are most similar to each other because of the way they formed?


	a.  Granite and Rhyolite

b.  Porphyry and Pegmatite

c.  Columnar Jointing and Aa

d.  Scoria and Pumice

e.  Andesite and Diorite
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	73
	In the above diagram, a lopolith is indicated by the letter __
	a.  A

b.  B

c.  C

d.  D

e.  E



	74
	The Pikes Peak Batholith is the same structure as …


	a.  A

b.  B

c.  C

d.  D

e.  E

	75
	The pluton indicated by the letter C above is called a …
	a.  batholith

b.  laccolith

c.  sill

d.  dyke

e.  stock



	76
	Which of the following rock types would most likely form the plutons above?
	a.  Rhyolite

b.  Andesite

c.  Granite

d.  Scoria

e.  Pumice



	77
	If you had a choice of walking barefoot across either aa or pahoehoe, which would you choose?
	a.  aa

b.  pahoehoe



	78
	The word “pyroclastic” is most accurately translated …
	a.  volcanic fragment

b.  hot mud flow

c.  ash

d.  fire fragment

e.  lava 



	79
	The three extrusive rocks are …
	a.  granite, scoria, pumice

b.  basalt, granite, scoria

c.  granite, diorite, gabbro

d.  Rhyolite, andesite, basalt

e.  none of the above



	80
	Igneous rocks with large grains would indicate that the original liquid material cooled
	a.  quickly

b.  slowly

c.  moderately

d.  cannot tell based on information 



	81
	Volcanic glass would suggest what rate of cooling
	a.  very quickly

b.  quickly

c.  slowly

d.  very slowly

e.  cannot tell

	82
	Pegmatites would suggest what rate of cooling
	a.  very quickly

b.  quickly

c.  slowly

d.  very slowly

e.  cannot tell



	83
	Igneous rocks containing large grains within a very fine matrix are referred to as
	a.  scoria

b.  porphyry

c.  glassy
d.  vesicular

e.  phreatic



	84
	Extrusive rocks are primarily distinguished from intrusive rocks based on
	a.  color



b.  mineral content

c.  grain size

d.  shape

e.  none of these



	85
	Which of the following does not represent size classification of pyroclastic material.
	a.  block

b.  sand


c.  ash


d.  lapilli



	86
	Which of the following is not a gas typically emitted from a volcano?
	a.  water

b.  hydrogen sulfide

c.  carbon dioxide

d.  ammonia
e.  sulfur dioxide


	87
	Which of these states does not have an active volcano located within it?
	a.  Colorado

b.  Hawaii

c.  Alaska

d.  Washington


e.  none of these



	88
	Earthquakes are almost never associated with active volcanoes
	a.  True


b.  False



	89
	Lava only reaches the surface through volcanoes.
	a.  True


b.  False



	90
	Another name for a pyroclastic flow is
	a.  lahar

b.  gas plume

c.  nuee ardente

d.  flash


e.  none of these



	91
	Another name for a hot mud flow is
	a.  lahar

b.  gas plume

c.  nuee ardente

d.  flash


e.  none of these



	92
	A theory that explains the formation of different kinds of igneous rocks from a single type of magma is called
	a.  Mohs Scale

b.  Mercalli Scale

c.  Bowen’s Reaction Series

d.  Plagioclase Series



	93
	The volcano that buried the cities of Pompeii and Herculaneum in 79 A. D.
	a.  Tambora

b.  Vesuvius

c.  Mt. Pelee

d.  Pinatubo

e.  Paracutin


	94
	Granite is most similar chemically to which of the following rocks.
	a.  basalt

b.  gabbro

c.  diorite

d.  
hyolite

e.  andesite

	95
	Basalt is most similar chemically to which of the following rocks
	a.  gabbro

b.  diorite

c.  
hyolite

d.  granite

e.  andesite

	96
	A lava that is ropy and relatively smooth is called
	a.  scoria

b.  pumce

c.  aa


d.  breccia

e.  pahoehoe



	97
	Crystals begin to crystallize out of magma at approximately what temperature?
	a.  100(C

b.  500(C

c.  1000(C

d.  2000(C

e.  2500(C



	98
	The last minerals to crystallize out of the magma are orthoclase and
	a.  quartz

b.  muscovite

c.  Na-plagioclase  
d.  olivine

e.  biotite



	99
	Bowen’s Reaction Series explains
	a.  why we have different kinds of volcanoes

b.  why we have different forms of magma

c.  why minerals crystallize out of magma

d.  why we can have different igneous rocks from the same magma

e.  none of the above



	100
	An igneous rock that shows two distinct rates of cooling is
	a.  pegmatite


b.  granite


c.  scoria


d.  porphyry


e.  pumice



	101
	Volcanic glass is also known as
	a.  scoria


b.  pumice


c.  tuff



d.  ignimbrite


e.  obsidian



	102
	The fracture that is often exhibited by obsidian is called
	a.  rounded


b.  conchoidal


c.  hacky


d.  shelly


e.  glassy



	103
	Another name for volcanic rocks is
	a.  extrusive


b.  plutonic


c.  intrusive


d.  granites


e.  pegmatites



	104
	Bodies of igneous rocks that have cooled under the surface of the Earth are generally called
	a.  masses


b.  plutons


c.  volcanoes


d.  blobs


e.  bombs



	105
	The finest type of pyroclastic material is referred to as
	a.  sand



b.  ash



c.  cinders


d.  lapilli



e.  blocks



	106
	Semi-molten blocks of pyroclastic material ejected from a volcano are called
	a.  bombs


b.  ash



c.  cinders


d.  lapilli



e.  blocks



	107
	An intermediate extrusive rock is
	a.  diorite


b.  
hyolite


c.  andesite


d.  gabbro


e.  basalt



	108
	A felsic intrusive rock is
	a.  granite


b.  diorite


c.  
hyolite


d.  gabbro


e.  basalt



	109
	A mafic extrusive rock is
	a.  granite


b.  diorite


c.  andesite


d.  gabbro


e.  basalt



	110
	rock made up of the accumulation of volcanic ash and fine pyroclastic material
	a.  tuff



b.  scoria


c.  
hyolite


d.  andesite


e.  pumice

	111
	A frothy igneous rock capable of floating on water
	a.  tuff



b.  scoria


c.  
hyolite


d.  andesite


e.  pumice

	112
	Extremely coarse grained, plutonic igneous rock
	a.  tuff



b.  scoria


c.  
hyolite


d.  andesite


e.  pumice

	113
	Extrusive rock with very large gas holes
	a.  tuff



b.  scoria


c.  
hyolite


d.  andesite


e.  pumice



	114
	Which of the following planets is least likely to have volcanoes?
	a.  Mercury


b.  Venus


c.  Earth


d.  Mars


e.  Jupiter



	115
	a pretty even mix of quartz/orthoclase and ferromagnesians; grains are very small in size
	a.  andesite

b.  diorite

c.  granite

d.  Rhyolite

e.  scoria



	116
	In the movie “Dante’s Peak”, what was the final piece of information that convinced everyone that the volcano was going to erupt?
	a.  the volcano started to bulge out on its north side.

b.  the town’s water supply became contaminated with sulfur dioxide

c.  a massive earthquake occurred

d.  all of the squirrels in the area died

e.  two tourists were scalded to death in a local hotsprings



	117
	The final event of the Dante’s Peak eruption was …
	a.  a pyroclastic flow

b.  a lahar

c.  a massive vertical eruption of ash

d.  a lava flow



	118
	The cause for all the squirrels and trees dying in the area around Dante’s Peak was …
	a.  a pyroclastic flow

b.  a lahar

c.  a lava flow

d.  carbon dioxide

e.  sulfur dioxide



	119
	.  The lake near Dante’s Peak turned to acid due to …
	a.  lava flowing down into the lake 

b.  ash falling into the lake and dissolving in the water

c.  sulfur dioxide gas dissolving in the water

d.  local citizens dumping old car batteries in the lake

e.  a lahar flowing down into the lake



	120
	What was wrong with the scene in the movie where Harry Dalton was driving away from the pyroclastic flow?
	a.  Harry Dalton’s truck was not affected by the heat generated by the flow.

b.  The pyroclastic flow would never have been able to keep up with the speed of the truck.

c.  The pyroclastic flow would never have been able to knock down the trees and buildings as depicted in the movie.

d.  He would never have been able to outrun the pyroclastic flow in the truck.

e.  There was nothing wrong with the scene.  It perfectly represented a volcanic eruption.



	121
	What was wrong with the scene in the movie where Harry Dalton drove his truck over the lava flow?
	a.  The tires would never have been able to withstand the heat.  They would have immediately exploded.

b.  The gas tank of the truck would never have survived the traverse.  It would have exploded.

c.   The people inside the truck would never have been able to withstand the heat.

d.  All of the above things were wrong.

e.  There was nothing wrong with the scene.  It was perfectly plausible.



	122
	Which of the following statements is true concerning the movie Dante’s Peak?
	a.  The robot that entered the volcanic crater sent back valuable information for the geologists.

b.  Lava and pyroclastic material do not usually come out of the same volcano at the same time.

c.  Lahars and pyroclastic flows are not usually associated with each other.

d.  Micro-earthquakes do not usually occur as frequently as indicated in the movie.

e.  All of the above statements are true.



	123
	You discover a rock that has very large, almost round holes in it.  The rock is black in color, but you cannot see any crystals in it.  Which of the following statements is an accurate interpretation of this rock.
	a.  The rock is from a laccolith that has been exposed at the surface due to erosion.

b.  The rock is from the side of a caldera.

c.  The rock is volcanic in origin from a lava that had quite a bit of gas in it.

d.  The rock is plutonic in origin that cooled very slowly underground before being exposed due to erosion.

e.  The rock is extrusive in origin that cooled extremely fast by falling into water.



	124
	You discover a rock that looks like a piece of glass.  The rock is black in color.  Which of the following statements is an accurate interpretation of this rock.
	a.  The rock is from a laccolith that has been exposed at the surface due to erosion.

b.  The rock is from the side of a caldera.

c.  The rock is volcanic in origin from a lava that had quite a bit of gas in it.

d.  The rock is plutonic in origin that cooled very slowly underground before being exposed due to erosion.

e.  The rock is extrusive in origin that cooled extremely fast by falling into water.



	125
	Airplanes are not allowed to fly near an erupting volcano because …
	a.  the tremendous heat from the volcano causes the air to become unstable and cause dangerous winds

b.  pilots will be too distracted watching the eruption and not pay attention to where they are going

c.  they attract too many airplanes into a particular area and there is a danger they may collide

d.  the ash can be pulled into the engines causing them to fail.

e.  the heat can melt the tires of the plane preventing it from landing safely



	126
	The inside of the Earth is hot because …
	a.  frictional forces between the core and mantle

b.  deformation of the Earth due to gravitational pull between the Earth and the Moon

c.  asteroid impacts during the early formation of the Earth

d.  radioactive decay 

e.  all of the above
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